dy _ycosx
dx  1+2y2

2. (x*+yHdx+ (x> —xy)dy =0

3. 2xeY + (x2%e¥ +cosy)% =0

dy _

4. a+2y—ex\/§

5. y'=9y =0 y(0)=1,y'(0)=3
a?y 4y

6. 4d2x 4dx+y—0

7. ¥yY'+y' +y=0
8. eY sin2xdx + cosx( e*’ —y)dy =0

9 dy _  xy
) dx  x2—y2

10. (2xy — sec?x )dx + (x> + 2y)dy =0

e3x

11. xy' + 2y =—

12. 3y —14y' =5y =0



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

y'—4y'+4y =0 y(0)=1,y'(0)=1

acy | _
2d2x+6dx+5y—0

ay _
(1+x)dx—x+6

dx

y Inx =)

(e¥ + D?eVdx + (e* + 1)3e*dy =0
(ye* —x)dx +e*dy =0

2ydx + xdy = 0

(3x%eY —x®)dx + (x3e¥Y + y*)dy =0
(1+e*y+xe*y)dx + (xe* +2)dy =0



24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

y' + tan(x)y = cos?(x),y(0) = 2
dy _ 3

Y t+y

2Yy'+6y'+5y =0
y'—2y'-3y=0

y"'—6y'+9y =0

2
47y 3 _g
dx dx

4y"-12y'+5y=0
4y"'+y=0
y'-8y'+16y=0
y"+9y=0
Zyr=2

dy _ 4y _ 2 x

_——— x-e
dx X

dy 237:0

dx X



37.

38.

39.

41.

42.

43.

44,

45.

46.

47.

dy
x(y —x)—==y*
dy 'y y?

d 2
S _y Y
X

dx x2

(x+Dydx+(x—-—1D(y+1)dy=0

(xy +y)dx+ (y?’x —y*—x+1)dy =0

dx + e3*dy =0

2 2

dx _ x°y

dy T 1+x




48. ay _ e (3x+2y)
dx

49. 2y(x + 1)dy = xdx

50. (4y + yx?)dy — 2x + xy?)dx =0



